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Premises

Robots can do any task

Robots will do any task for which they 
have a lower opportunity cost than labour

Robots won’t do every task if labour can 
find new tasks for which they have a lower 

opportunity cost





What this misses

Codifies the “Lump of AI” fallacy

Abstracts from capabilities of AI and 
presumes superhuman potential

Ends up with calls to limit automation 
competition by focussing on “human-

centric AI”



The “Lump of AI” Fallacy



https://knightcolumbia.org/content/what-will-remain-for-people-to-do

• General equilibrium limits 
(opportunity cost)


• Preference limits (intrinsic 
value for human input)


• Moral limits (don’t trust 
machines)



What is the Fallacy?

“Lump of Labour” Fallacy: Fixed pool of jobs that AI 
could take away is mitigated by increased 
productivity creating more demand and more jobs 

“Lump of AI”: when AI is used it only benefits its 
owners so that workers need to find new tasks

Fallacy: AI still benefits labour through increased 
productivity and increased demand for labour



Single commodity economy: product can 
be used for production alongside labour
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(a, b) → (a′￼, b′￼) ⟹ w ⋅ a′￼+ (1 + r) ⋅ b′￼ < 1

Possibility 1: a′￼ < a, b′￼ = b ⟹ w′￼ > w
Possibility 2: a′￼ = a, b′￼ < b′￼ ⟹ w′￼ > w

“[S]o long as the rate of interest remains constant [depends on savings 
preferences] an advance in technology can only produce a rising level of 
real wages. The only route through which technological advance could 
lower real wages would be by increasing the capital coefficient (the added 
cost being compensated by a larger decline in the labor coefficient), 
thereby creating a scarcity of capital and pushing interest rates sharply 
upward.”

Only changes if AI increases the cost of capital relative to goods 
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As share of tasks automated ( ) increases, this increases 
the capital share but, as these tasks grow faster, their 
price declines and so income share falls. 


Increase in  equivalent to  and : Automation 
is capital-depleting and labour-augmenting!


Baumol’s cost disease is intrinsic. 
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Actual AI versus Automated AI



Automation of a Task
Human-Supplied

All AI Does



Generative AI requires judgment



Write a letter

Chat GPT writes letterPrompt
Decide to 
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Practical AI Adoption Needs Humans
• N possible states (Pr = 1/N); true state is 

• Choose N actions, with payoff H (>0) if match state and L (<0) 

otherwise

• Three tools:


• Verification (Human). Check states one by one at cost, c 
(sequential)


• Statistics: At cost , find out correct state with prob, p, 
otherwise no answer


• AI: At cost , prediction that is correct with probability q (> p)

• Results:


• Dominated to run S after using AI

• 10 possible strategies (combining tools)

• AI won’t be used if q is too low


• If c and |L| are high, never use AI even as  and 

• AI won’t be used alone if verification and statistical pre-screening 

are cheap
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Human versus Artificial 
Intelligence























Should we restrict competition from AI?

Yes, because capital has a more favourable 
tax treatment than labour

Yes, private markets under-supply human 
capital investments (free-riding/liquidity)

Yes, there has been under-investment in 
innovation that helps humans work with 
machines

Yes, current generations make choices that 
neglect increasing future inequality

Yes, missing insurance markets for 
technological unemployment



Should we restrict competition from AI?

No, because competition leads to a better 
allocation of resources and productivity 
even in a second-best world

No, because it is more likely than not that AI 
will develop to complement existing human 
resources and capabilities than ignore them

No, because past automation has been fine. 
People found other stuff to do as adoption 
was slow



It comes down to speed


Will AI diffusion be faster than we can adjust?


Specifically, will people slow it down? 
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“girl-less, cuss-less, out-
of-order-less and wait-

less”
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